	Algorithm 1. Best Path Selection using Q-learning

	Input: Q-table, ε, α, γ, and packet types (TCP, UDP);
Output: Best path between source and destination (P*)

	1: Initialization:
2: ε                  0.01
3: Rand                   (Random N. Between 0,1)
4: if Rand > ε then
5:  Paths = argmin_p L(p)
6:  for all Path P in Paths do
7:   if Packet-Type is UDP then
8:     Q(s, a) = min_{p} QL(P)
9:     R(s, a) = w1 * (1 - latency(s, a)) + w2 * 
              bandwidth_utilization(s, a)
10:  else if Packet-Type is TCP then
11:    Q(s, a) = min_{p} PL(P)
12:    R(s, a) = w1 * (1 – packet_loss(s, a)) + w2 * 
              bandwidth_utilization(s, a)
13:  end if
14:  Q(s, a) = (1 - α) * Q(s, a) + α * (R(s, a) + γ *   
        max_a' Q(s', a'))
15:  end for
16:  if ε < 0.99 then
17:    ε = ε + 0.01
18:    P* = Paths[rand_idx]
19:  end if
20: else
21:  P* = argmin_p Q(s, a) for state-action pairs (s, a)
22: end if
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